
Asymmetries

Asymmetries based on expectation values (no statistical
fluctuations).
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Tracks asymmetry, expectation values
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Showers asymmetry, expectation values



Cut studies

Atmospheric muon rejection based on PID cut.

10 20 30 40 50 60 70 80 90 100
 [GeV]µMC E

0

100

200

300

400

500

600

700

800

E
ve

nt
s

mu score < 0.1

mu score < 0.05

Atm. muons in 3 years
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Shower reco

Track reco

MC energy

MC true and reco atm muons, mu score < 0.05

I am wondering why are these reconstructed as low-energy events?


